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<UXADER> (B4 7M)
18 =] RO OF KA IR A % IR A X F B lim =
1 FREBE 98,358,590 96,211,020 2,147,570
1 INEREBE 96,266,060 95,509,800 756,260
2 BB E 418,340 418,340 0
3 BEERKE 1,674,190 282,880 1,391,310
4 FEARISEE — — —
5 Zhih 0 0 0
2 HESE 55,680 95,680 0
1 PTASHBSE 55,680 55,680 O|8[EIZEHE - FEAR2322 SN
3 BHE 1,921,204 1,921,204 0
1 AIFERREE — — —
2 RIFEERYE 1,921,204 1,921,204 O|FTEERZHREELY
4 HIZA 47,700 47,700 0
1 BEHRXESE 47,700 47,700 0|B&3 46,200, Exi—JL 1,500
2 ZMith — —
a i 100,383,174 98,235,604 2147570
<ZHDE>
I8 B X H R TE R X W * . % lis =
1 HBBEBMHE 91,762,643 91,762,643 0
1 FRBE 15,632,856 15,632,856 O|K-/\-fERESE
2 BIBRE 76,129,787 76,129,787 0|43 KEH
=) it 91,762,643 91,762,643 0
IR AKA%E 98,235,604 H
- X HHHARE 91,762,643 H
-E5| RS 6,472,961 M TEHRIOEEF2FSETA~EH
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<IRADE> (BHI M)
18 B HOx® & IR A % IR A X K& & =
1 ZRIGEE 55,554,052 54,159,604 1,394,448
1 IERERE 53,974,390 53,342,710 631,680
2 FBSHEBE 734,840 734,840 0
3 BEERFE 844,822 82,054 762,768
4 AEHRISEE — — —
5 ZDih 0 0 0
2 HABSE 5,880 5,880 0
1 PTAZHBEE 5,880 5,880 O|2EIEHE- 21450
3 e 1,450,381 1,450,381 0
1 RIFHIEHE — — —
2 RIEERZHE 1,450,381 1,450,381 ORI EEINZIHRE KLY
4 HUTA 46,480 46,480 0
1 BEHRESE 46,480 46,480 O|B&;m 45,000/, ExR—)L 1,480M
2 ZDih — — —
=) it 57,056,793 55,662,345 1,394,448
<FTH®DE >
] B ¥ H R TE B X B & x . % & =
1 HBMHE 51,180,824 51,180,824 0
1 FBE 8,650,566 8,650,566 O|K-/\>-FTEREE
2 BIBE 42,530,258 42 530,258 O|FE:RESH
=) &t 51,180,824 51,180,824 0
- IR A & % 55,662,345 H
S - O 51,180,824 H
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